@ DREFOXE | BE | SREG% | :;’zﬁa#it(@1
_

N
£ %8 F Zu
/4
)
Bl cotowss | xmgEI~xTRAT, BETEAL T,
@ y=6x+2 @ y=-3 ® y= —x
— 92 _ 2 _ _
@ y= —2x"+t1 ® y=- ® y=02x —)5

| REAE DKL

y=ax+b TT | ®\ ®\ @

B romuviczisx,

@ y=3x+2T. x=5DLED yDEEKDLEI,

y=3X5+2 XI5ERANT B
=15 +12
=17
y=17
D y= =2x—3T.y=—10EDxDEZRDHLI,
= -y —3 Y-1ERAT B
2= =3+1 . para
2x = =2 ..
) 2vss
X = ] < x = _]
@ y= —x+5T.x= —20LED yDEZKRHRT,
y= ——(—-2)4—5 xXI-2ERANT 3
=2+)5
=7
y=7

T/ 7FCEWEF corvrra@esy a—RTE27, https://




	★　テスト1　解答
	Sheet1


